81?2 + 240 812 + 243 813 + 240
o V2 2+ ® V2 2+ 5 V3 2+
813 + 243 816 + 243
@ V3 2+ 5 V6 2+

B

BH —— 1
cos 60° = = BH = 18 cos 60° = 18 x 5 9 (cm)

AH —
sin60°:1—8, AH:ISsin60°:18x\/T§:9\/§(cm)
CH = AH °]22 BC = 9+ 9V3(cm)
AABCS] Yol

(9+9\/§)X9\/§X%:81\/§+Q43(cm2)

451




sinA:cosA=4:5% 9 tan A 9] F29

® 0 @ V2 @? 1

2
® - 5

W~ ot

B

sinA :cosA=4:5022 5s5inA = 4cos A O|t}.

FAL 5eosA 2 1w A _ Loy
cosA 5

4

whebA] tan A = £ o]k,




1 3
3. 0°<A<60° ¥, (5 —cosA) - /(cosA +sin30°)2 9] Zh=

p?
@ 2sinA @ lsinA ®1

2
@ 0 @—1
<B ~

1
0° <A <60° 2] HolA cosA 9] HA= 5 <cosA <1 ojm=z

1
3~ cosA < 0 ©]tt.

1 \Z
(5 —cosA) - /(cosA + sin 30°)2
1 .
= - (5 — cosA) — (cos A + sin 30°)
= —— 4+ cosA — cosA — sin 30°

= —— —sin 30°




1= =
7t 2SR AFLEL S ek o] Ao]
OA 9} 30° o] ZI= 5 o] 23S uf, = H
AE 71F02 510 9 em 9] =o]of YA
Totodat,
@D 25-2043 @ 25-503
® 50 -20v2 @ 100 - 253

@100-503

B

A BolA OAC] HE A4S O3S
o Tht= H-S Het okAt

- x=0A-0H
= 100 — 100 cos 30°
— 100 — 100 x ‘/75

=100 - 50 V3 (cm)




5. AZ¥E ABCIAABC=a, AC=b, AB=c L W, a(a—c)(a+c)+
b(b—)(b+) = 0 0 AU T, tan C o] 2 F5}oek

ala—c)(a+c)+bb-c)(b+c)=0
a+b*-c*a+b)=0
(a+b)(a®>—ab+b*-c*) =0
JAdla+b#0°1B&2 a®>—ab+b* - c? =0
Alo] FALRIH & o] &J5ff ¢? = a? + b? - 2ab cos C

) 1
= A8 95} ab = 2abcos C ©) B2 cosC = =

© tanC = V3




